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Attempt a¥l questions.

Show your workings clearly.
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. Explain briefly the significance of standard cesting as a tech-

nique of cost control.

Define and explain the concept of standard cost and standard
costing,
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Or

The standard labour employment and actual labour engaged in

a week for a job are as under :

Skilled Workers

Standard no. of

workers In a gang 32
Actual no. of

workers employed 2R
Std wage rate per

hour T3
Actuai wage rate

per hour 4

-

Semiskilled Unskilled
Workers Workers
2 6
i3 4
T2 T i
3 2

~ During the 40 hours week, the gang produced 1800 standard

labour hours of work.

You are required 1o calculate :

Labour cost, Rate, Efficiency, mix and Yield variances.
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{g) . What is cash budger 7 What are its uses ?

{£) List the impeortant functional budgets prepared by the

business. Explain any rnwo.
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Prepare a flexible budget for over the overheads of John Ltd
from the following data and ascertain the overhead rates based

on direct labour hours 50%. 68% and 70%.

At 60°%° capacity

Variable : )
Indirect material 6.000
Indirect fabour 18.000

Semi fixed :

E!‘e,ciricit}_; {(40% ﬁxe.d) 30,000
Repairs (20% variable) 3000

Fixed :

Depreciation ‘ 16,500
Insurance 4,500
_ Se;iarics 15,000

Estimated'direct Jabour.haurs 1.86.000 hours.
(@) TS T FW T R 7 T W ITOW B ?
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IS8 fo » Fofafas =3 & sofiecm & s
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60°, ST T
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AqEY GHUT 6000
AYIH WA 18000
378 Tt
fasrEtt (409 <ar 30,000
T (20% T 3000
Tt -
frg@e :65@5
Citll 1500
A 15.000

FTE Ty AT US 1.86.000 T
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3. Naraini Motors assembies and sells motor vehiclas. It uses actual

costing system.
Data relating 1o March and April, are :
March Aprit

Unit data Unit data

Inventory In beginning 0 i50
Production 500 400
Sales 350 520

Variable cost data (T)
Manufacturing costs per unit produced 10000 1,000
Distribution costs per unit seid ‘3..0(}6 3.000
Fixed .cast data -
Manufacturing 2000000  20,00,000
Marketing 6,00,000 6.00.000
The selling price per motor vehicle is T 24,000
Required

{¢} Income statement for March and April under absorption
as well as varniable costing.

{(hy  Explain the difference in profits, if any, under two costing
systems.

r

(¢}  Differentiate between marginal costing and absorption
costing,

(b}  Explain the managerial uses of variable costing.
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fafmi o wfe = sfca wow FI000
fafmin o fast & fTa

RIUG| - 3.000 3000
fafgio 2000000 20,0000
faqum . 608000 600000
Wi e w1 faE TT ¥ 7 24.000.
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Madhuri Ltd. which produces three products furnishes vou the

following data for the year 2015 ¢

Produocts
A B C
Selling price per unit (3) 100 75 0
P/V Ratio (3%) 10 X A}

Maximum sales potential (units) 40,000 235,000 10.000
Raw materiat content as

%age of variable cost X 30 L

The fixed expenses are estimated 1o be at T 6.80.000. The compan)
uses a single raw material in all three products. Raw material
is in short supply and the company has a quota for supply of
raw material of the value of ¥ 18.00.000 for the manufacturing

of its products to meet its sales demand.

You are required to {&) set a product mix which will give maximum
overall profit keeping given vanables m mind. () Compute the

porfit as suggested sales mix.
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“The technique is a valuable aid to management.” Discuss.

oyl fa. 9 @9 SR FERT § s 99 2015 % IR
frafafas i Soo™ 0 €

e =R faws 3= @ 100 75
PV ST (%) 10 2 0
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Explain the term responsibility accounting. Discuss any three

responsibility centers.

Or

What do you mean by divisional performance 7 Discuss

financia! methods of measuring divisional performance.
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